1		1				r								
Bid Tabu	on County Public Schools													
Event Name	e: ELECTRIC MOTORS CPS-8322													
	ate: April 16, 2024 Jeceived: March 12, 2024													
	eriod: April 26, 2024 through April 25, 2025													
	No renewal option : Award Status indicates an award													
comments.	Award Status Indicates an award													
Item									Manufacturer Part					
Number 1	Item/Service Motor, 9 watt, 1,550 RPM, 115 volts, clockwise rotation.	Description GE #S5411, Smart Electric #SE5411 or equal.	Commodity Code 6100003-1310781	Vendor Name S.W.H. Supply	No Bid No	UOM 1 Each Purchase	Quantity 12	Manufacturer / Provider MARS	r Number MARS 05411	Unit Bid Price \$37.38	Total Price \$448.56	Vendor Response Item Notes	Award Status	Award Notes
				Company, Inc.									Awarded	
													Awarded	
2	Motor, 9 watt, 1,550 RPM, 230 volts, clockwise rotation, threaded	Smart Electric #SE5421 or equal.	6100003-1195200	S.W.H. Supply	No	1 Each Purchase	4	MARS	MARS 05421	\$57.69	\$230.76			
	shaft.			Company, Inc.									Awarded	
													Allanded	
3	Motor, 1/20 HP, 1,450 RPM, 208/230 volts, single phase, sleeve	A.O. Smith #D0396 or equal.	6100002-1653188	S.W.H. Supply	No	1 Each Purchase	1	AO SMITH	AO SMITH D0396	\$72.67	\$72.67			
	bearing, 1 speed, CW, 3 3/8" dia., 5/16" x 2 1/2" shaft, shaded pole, open, continuous duty, supplied with lead and plug assembly.			Company, Inc.									Awarded	
4		A.O. Smith #01124, Bohn #5008SS, Fasco #D1124, Smart Electric #SE24	6100003-1723607	S.W.H. Supply	No	1 Each Purchase	4	FASCO	FASCO D1124	\$79.81	\$319.24			
	pole.	or equal.		Company, Inc.									Awarded	
5	Motor, 1/15 HP, 1,550 RPM, 208/230 volts, 1 speed, sealed bearings, evaporator shaded pole, motor base or mounting bracket to be	Bohn #5008T, Fasco #D1126, Smart Electric #SE26 or equal.	6100003-1720905	S.W.H. Supply Company, Inc.	No	1 Each Purchase	2	FASCO	FASCO D1126	\$82.83	\$165.66			
	included, supplied with lead and plug assembly.			company, ne.									Awarded	
6	Motor, 1/12 HP, 1,375 RPM, 115 volts, 3 speed.	Fasco #D1055. NO SUBSTITUTE.	6100003-1725491	S.W.H. Supply Company, Inc.	No	1 Each Purchase	20	FASCO	FASCO D1055	\$196.14	\$3,922.80			
				company, me.									Awarded	
7	Motor, 1/12 HP, 1,725 RPM, 115 volts, pump series #1, motor base or mounting bracket to be included.	Armstrong #805316-010. NO SUBSTITUTE.	6100003-1664679	S.W.H. Supply Company, Inc.	No	1 Each Purchase	1	ARMSTRONG	ARMSTRONG 805316-010	\$438.40	\$438.40			
													Awarded	
8	Motor, 1/10, 1/15, 1/25, 1/35 HP, 1,075 RPM, 115 volts, 42 frame, 4 speed, double shaft, sleeve bearing, resilient base, auto protector, 60	A.O. Smith #362A or equal.	6100002-1247127	S.W.H. Supply Company, Inc.	No	1 Each Purchase	1	AO SMITH	AO SMITH 362A	\$222.12	\$222.12			
	Hz., 40ºC ambient.												Awarded	
9	Motor, 1/10, 1/20, 1/30, 1/40, 1/70 HP, 1,050 RPM, 115 volts, single phase, 42 frame, 5 speed, double shaft, sleeve bearing, resilient mount	A.O. Smith #89PSC. NO SUBSTITUTE.	6100002-1247092	S.W.H. Supply Company, Inc.	No	1 Each Purchase	20	AO SMITH	AO SMITH 89PSC	\$165.85	\$3,317.00			
	on cradle base, open air over, auto protector, 60 Hz., 40°C ambient.												Awarded	
10			C100000 0011011			15 10 1		10.01470		4200.07	6200.07	3134 HAS BEEN OBSOLETED REPLACED BY 0547A		
10	Motor, 1/8 HP, 700 RPM, 115 volts, sleeve bearing, base mount, CW rotation.	AFF, GE #3134 Model #5KCP39KGB909S. NO SUBSTITUTE.	6100003-2011311	S.W.H. Supply Company, Inc.	No	1 Each Purchase	1	AO SMITH	AO SMITH 0547A	\$299.07	\$299.07	3134 HAS BEEN OBSOLETED REPLACED BY 0547A		Reject - does not meet specifications, wrong part
														and part number.
11	Motor, 1/8 HP, 700 RPM, 115 volts, single phase, 48 frame, 1 speed, 60	A.O. Smith #0547A, Fasco #D827 with #YEF240 cord or equal.	6100003-1714706	S.W.H. Supply	No	1 Each Purchase	4	AO SMITH	AO SMITH 0547A	\$299.07	\$1,196.28			
	Hz., CW rotation, motor base or mounting bracket to be included.		3100003-1/14/00	Company, Inc.		- coch rui chase		AC SMITT	NG 31111 0347A	4233.01	4,170.20			
													Awarded	
12	Motor, 1/6 HP, 1425 RPM, 120 volt D shaft, 3 SPD IEC E020-70021517.	Fasco #D1059 or equal.	6100002-2009644	S.W.H. Supply	No	1 Each Purchase	10	FASCO	FASCO D1059	\$205.14	\$2,051.40			
				Company, Inc.									Awarded	
													Awarded	
13	Motor, 1/6 HP, 1,725 RPM, 115 volts, pump series #HV, motor base or	Armstrong #817025-001. NO SUBSTITUTE.	6100003-1664678	S.W.H. Supply	No	1 Each Purchase	1	ARMSTRONG	ARMSTRONG 817025-001	\$588.60	\$588.60			
	mounting bracket to be included.			Company, Inc.									Awarded	
													Awarueu	
14	Motor, 1/6 HP, 1,725 RPM, 115 volts, single phase, split phase, 48	A.O. Smith #GF2014, Marathon #D107 or equal.	6100002-1247029	S.W.H. Supply	No	1 Each Purchase	1	AO SMITH	AO SMITH GF2014	\$126.71	\$126.71			
	frame, rotation reversible, sleeve bearings, resilient base, drip proof, auto protector, 60 Hz., 40°C ambient, continuous duty, low starting			Company, Inc.									Awarded	
	amps. and low noise level.													
15	Motor, 1/4 HP, 1,725 RPM, 115 volts, for pump series Bell & Gossett	Armstrong #817025-007. NO SUBSTITUTE.	6100003-1664680	S.W.H. Supply	No	1 Each Purchase	1	ARMSTRONG	ARMSTRONG 817025-007	\$737.89	\$737.89			
	#LD3 or Armstrong #S45, motor base or mounting bracket to be included.			Company, Inc.									Awarded	
16	Motor, 1/4 HP, 1,725 RPM, 115 volts, split phase, 48 frame, sleeve	A.O. Smith #BF2024, Emerson #8000 or equal.	6100002-2011438	S.W.H. Supply	No	1 Each Purchase	5	EMERSON	EMERSON 8000	\$142.46	\$712.30			
	bearings, resilient base, open, auto protector, reversible, 60 Hz., continuous duty.			Company, Inc.									Awarded	
17	Motor, 1/4 HP, 1,725 RPM, 115/230 volts, 48 frame, ball bearing, resilient base ODP, canacitor start 60 Hz, 409C ambient motor base	A.O. Smith #C196L, Marathon #B313 or equal.	6100002-1311351	S.W.H. Supply	No	1 Each Purchase	4	MARATHON	MARATHON B313	\$213.50	\$854.00			
	resilient base, ODP, capacitor start, 60 Hz., 40°C ambient, motor base or mounting bracket to be included.			Company, Inc.									Awarded	
					•			•	· .			*		

18	Motor, 1/4-1/12 HP, 1/25/1/140 RPM, 115 wolts, single phase, spite phase, starting type 482 Transe, Juli bearing, resilent base, drig proof, auto protector, 60 Hz., 40°C ambient, countinuous duty, motor base or mounting bracket to be included.	Marathon #H172 or equal.	6100003-1680966	S.W.H. Supply Company, Inc.	No	1 Each Purchase	1	MARATHON	MARATHON H172	\$229.34	\$229.34	Awarded	
19	Motor, 1/3 HP, 1.075 RPM, 115 volt, 48 frame, 5 5/8" diameter, 3 speed, sieeve bearing, auto protector, lead reversible, 60 Hz., 40PC ambient, 2 1/4" rings with 2 1/2" adapters included.	A.O. Smith #DL1036 or equal.	6100002-1543655	S.W.H. Supply Company, Inc.	No	1 Each Purchase	1	AO SMITH	AO SMITH DL1036	\$108.78	\$108.78	Awarded	
20	Motor, 1/3 HP, 1,075 RPM, single phase, 208/230 volts, 48 frame, ball bearing, reversible, permanent split capacitor, auto protector, 60 Hz., 60°C ambient, with #1218A adapter.	A.O. Smith #FE1036SF or equal.	6100002-1660605	S.W.H. Supply Company, Inc.	No	1 Each Purchase	2	AO SMITH	AO SMITH FE1036SF	\$114.05	\$228.10	Awarded	
21	Motor, 1/3 HP, 1,725 RPM, 115/230 volts, single phase, split phase, 48/56 frame, rotation reversible, sleeve bearings, resilient base, drip proof, auto protector, 60 Hz, 40°C ambient, continuous duty, low starting amps. and low noise level.	A.O. Smith #BF2034, Emerson #8100 or equal.	6100002-1054415	S.W.H. Supply Company, Inc.	No	1 Each Purchase	8	EMESON	EMESON 8100	\$148.05	\$1,184.40	Awarded	
22	Motor, 1/3 HP, 1,725 RPM, 115 volts, Pump Series H03.	Armstrong #817025-013. NO SUBSTITUTE.	6100003-1664681	S.W.H. Supply Company, Inc.	No	1 Each Purchase	2	ARMSTRONG	ARMSTRONG 817025-013	\$792.03	\$1,584.06	Awarded	
23	Motor, 1/2 HP, 1.075 RPM, 208/230 volts, single phase, 48Y frame, vertical or horizontal mount, 1/2" x 6" shaft, reversible, permanent split capacitor, ball bearings, resilient mount on cradle base, auto protector, 60 Hz, 60°C ambient, continuous duty.	A.O. Smith #F1056SB or equal.	6100002-1660611	S.W.H. Supply Company, Inc.	No	1 Each Purchase	2	AO SMITH	AO SMITH F1056SB	\$141.01	\$282.02	Awarded	
24	Motor, 1/2 HP, 1,725 RPM, 115/230 volts, single phase, split phase, 48/56 frame, rotation reversible, sieceve bearings, resilient base, drip proof, auto protector, 60 HL, 40/62 malhent, continuous duty, low starting amps. and low noise level.	A.O. Smith #GF2054D or equal.	6100002-1247056	S.W.H. Supply Company, Inc.	No	1 Each Purchase	3	AO SMTIH	AO SMTIH RB2054DV2	\$340.77	\$1,022.31	Awarded	
25	Motor, 3/4 HP, 1,725 RPM, 115/230 volts, single speed, split phase, 56 frame, rotation reversible, sleeve bearings, resilient base, drip proof, auto protector, 60 Hz., 40PC ambient, continuous duty, low starting amps. and low noise level.	Marathon #G141 or equal.	6100002-1247207	S.W.H. Supply Company, Inc.	No	1 Each Purchase	2	MARATHON	MARATHON G141	\$400.34	\$800.68	Awarded	
26	Motor, 3/4 HP, 1,725 RPM, 208-230/460 volts, 3 phase, 56 frame, rotation reversible, ball bearing, resilient base, ODP, auto protector, 60 Hz., 40%C ambient, continuous duty, low starting amps. and low noise level.	Marathon #G141 or equal.	6100001-1655632	S.W.H. Supply Company, Inc.	No	1 Each Purchase	3	MARATHON	MARATHON G141	\$400.34	\$1,201.02	Awarded	
27	Motor, 1 HP, 1,075 RPM, 208/230/460 volts, 1 phase, 56 frame.	Emerson #2686. NO SUBSTITUTE.	6100003-1722188	S.W.H. Supply Company, Inc.	No	1 Each Purchase	2	EMERSON	EMERSON 2686	\$662.05	\$1,324.10	Awarded	
28	Motor, 1 HP, 1,140 RPM, 460/200-230 volts, 3 phase, 56Y frame, 5/8" x 6" shaft, double sealed ball bearing, vertical mount, reversible, auto protector, 60 Hz, 60% ambient.	Century #H667VI. NO SUBSTITUTE.	6100001-1667098	S.W.H. Supply Company, Inc.	No	1 Each Purchase	3	AO SMITH	AO SMITH H667V	\$442.63	\$1,327.89	Awarded	
29	Motor, 1 HP, 1,725 RPM, 115/208-230 volts, single phase, 56 frame, capacitor start, rotation easily reversed, 5/8° shaft, ball bearings, rigid base, ODP, 60 Hz, 40% Cambient, continuous duty, low starting amps. and low noise level.	A.O. Smith #C695ES, US Motor #D1CP2PH or equal.	6100002-1054871	S.W.H. Supply Company, Inc.	No	1 Each Purchase	1	MARATHON	MARATHON C181CB	\$480.03	\$480.03	Awarded	
30	Motor, 1 1/2 HP, 1,140 RPM, 460/200-230 volts, 3 phase, 56Y frame, 5/8" x 6" shaft, double sealed ball bearing, vertical mount, reversible, auto protector, 60 Hz., 60°C ambient.	Century #H767V1. NO SUBSTITUTE.	6100001-1717700	S.W.H. Supply Company, Inc.	No	1 Each Purchase	10	AO SMITH	AO SMITH H767V1	\$483.03	\$4,830.30	Awarded	
31	Motor, 1 1/2 HP, 1,800 RPM, 208-230/460 volts, 3 phase, 145T frame, ball bearings, rigid base, ODP, 60 Hz, 40PC ambient, continuous duty, low starting amps. and low noise level.	Baldor #M3154T, Marathon #U759P, US Motor #D32P2D or equal.	6100001-1497303	S.W.H. Supply Company, Inc.	No	1 Each Purchase	1	EMERSON	EMERSON D32P2D	\$339.03	\$339.03	Awarded	
32	Motor, 2 HP, 1,140 RPM, 460/208-230 volts, 3 phase, 56 frame, double sealed ball bearing, totally enclosed, air over, reversible, auto protector, 60 Hz., 60°C ambient, continuous duty.	Century #H698V1 or equal.	6100001-2010893	S.W.H. Supply Company, Inc.	No	1 Each Purchase	4	CENTURY	CENTURY H698V1	\$524.31	\$2,097.24	Awarded	
33	Motor, 2 HP, 1,725 RPM, 200-230/460 volts, 3 phase, 56Hz frame, ball bearings, rigid base, ODP, 60 Hz, 40°C ambient, continuous duty, low starting amps. and low noise level.	Century #OB3204V1, Marathon #K041 or equal.	6100001-1664644	S.W.H. Supply Company, Inc.	No	1 Each Purchase	1	MARATHON	MARATHON FX02BK003	\$423.73	\$423.73	Awarded	
34	Motor, 2 HP, 1,725 RPM, 208-230/460 volts, 3 phase, 145T frame, ball bearings, rigid base, ODP, 60 Hz, 40°C ambient, continuous duty, low starting amps. and low noise level.	US Motor #D2P2D or equal.	6100001-1191777	S.W.H. Supply Company, Inc.	No	1 Each Purchase	1	US MOTORS	US MOTORS D2P2D	\$372.49	\$372.49	Awarded	
35	Motor, 3 HP, 1,800 RPM, 208-230/460 volts, 3 phase, 182T frame, bal bearings, rigid base, ODP, 60 Hz, 40°C ambient, continuous duty, low starting amps. and low noise level.	Marathon GT0010A, US Motor #D3P2D, or equal.	6100001-1191786	S.W.H. Supply Company, Inc.		1 Each Purchase	2	US MOTOR	US MOTOR D3P2D	\$395.78	\$791.56	Awarded	
36	Motor, 5 HP, 1,800 RPM, 208-230/460 volts, 3 phase, 184T frame, ball bearings, rigid base, ODP, 60 Hz, 40°C ambient, continuous duty, low starting amps. and low noise level.	Marathon #GT0013A, US Motor #DSP2D or equal.	6100001-1191768	S.W.H. Supply Company, Inc.	No	1 Each Purchase	2	US MOTORS	US MOTORS D5P2D	\$426.33	\$852.66	Awarded	
37	Motor, 7 1/2 HP, 1,800 RPM, 230/460 volts, 3 phase, 213T frame, ball bearings, rigid base, ODP, 60 Hz. 40°C ambient, continuous duty, low starting amps, and low noise level.	Marathon GT0016A, US Motor #DSP2D or equal.	6100001-1191795	S.W.H. Supply Company, Inc.	No	1 Each Purchase	2	US MOTORS	US MOTORS D7P2D	\$623.50	\$1,247.00	Awarded	

	Motor, 10 HP, 1,800 RPM, 230/460 volts, 3 phase, 215T frame, ball bearings, rigid base, 00P, 60 Hz, 40°C ambient, continuous duty, low starting amps, and low noise level.	A.O. Smith #E397M2, Marathon #GT0019 or equal.	6100001-1191731	S.W.H. Supply Company, Inc.	No	1 Each Purchase	2	US MOTORS	US MOTORS D10P2D	\$758.81	\$1,517.62	Awarded	
39	Motor, 15 HP, 1,800 RPM, 230/460 volts, 3 phase, 254f frame, ball bearings, rigid base, ODP, 60 Hz, 40°C ambient, continuous duty, low starting amps, and low noise level.	Marathon #GT0059, US Motor #D15P2D or equal.	6100001-1685322	S.W.H. Supply Company, Inc.	No	1 Each Purchase	2	US MOTORS	US MOTORS D15P2D	\$1,037.45	\$2,074.90	Awarded	

Jefferson County Public Sch			
Award Totals			
Event Name: ELECTRIC MOTORS			
Event ID: JCPS-8322			
	1		1
Vendor	Bid Amount	Award Amount	
S.W.H. Supply Company, Inc.	\$40,022.72	\$39,723.65	